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uksV & iz'u i= rhu [k.Mksa esa foHkDr gS A lHkh rhu [k.Mksa ds iz'u funsZ'kkuqlkj gy

dhft;s A vadksa dk foHkktu izR;sd [k.M esa fn;k x;k gS A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.
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[k.M & ^v*  Section - 'A'

izR;sd bdkbZ ls nks iz'u gy dhft;s A

Attempt two questions from each unit.

vfry?kqmRrjh; iz'u] 'kCn lhek 30 'kCnksa esaA (10x2=20)

Very short answer question (word limit 30 words.)

bdkbZ & I  / Unit -I

1- ykxr vkSj ifjO;; esaa varj crkb;sA

Differentiate between cost and costing.

2- ewy ykxr ls vki D;k le>rs gSa \

What do you mean by Prime cost ?

3- fujUrj LVkWd lwph D;k gS \

What is perpetual Inventory ?
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bdkbZ & II  / Unit -II

4- dk;Zghu le; D;k gS \

What is idle time ?

5- ifjorZuh; le; nj dks le>kb;sA

Explain 'Graduated Time Rate'.

6- mifjO;;ksa ds vo'kks"k.k ls vki D;k le>rs gSa \

What do you understand by absorption of overheads ?

bdkbZ & III  / Unit -III

7- fØ;ek.k dk;Z D;k gS \

What is work-in-progress ?

8- ykxr /ku ykHk Bsdk dh O;k[;k dhft;sA

Discuss cost-plus contract.

9- lewg ykxr fof/k D;k gS \

What is a Batch costing ?

bdkbZ & IV  / Unit -IV

10- vUrj&izfØ;k ykHk D;k gS \

What is Inter-process profit ?

11- ^nSfud ykWx 'khV* D;k gS \

What is a 'Daily log sheet' ?

12- la;qDr mRikn rFkk miksRikn esa varj crkb;sA

Differentiate between joint product and By-product.
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bdkbZ & V  / Unit -V

13- Lej.kkFkZ lek/kku [kkrk D;k gS \

What is Memorandum Reconsiliation statement ?

14- ?kVuk dks.k fdls dgrs gSa \

What is angle of incidence ?

15- [k.M&le fcUnq fo'ys"k.k D;k gS \

What is break-even analysis ?

[k.M & ^c*  Section - 'B'

y?kqmRrjh; iz'u ¼'kCn lhek 60 'kCn½

Short answer question (words limit 60 words) 5x6=30

lHkh iz'u gy dhft;sA

Attempt all questions.

bdkbZ & I  / Unit -I

16- ^^ykxr ys[kkadu Hkkjr esa mHkjrs vkfFkZd ifjn`'; esa vf/kd ls vf/kd izklafxd cu x;k

gSA** fVIi.kh dhft;sA

"Cost accounting is becoming more and more relevant in the emerging economic

scenario in India". Comment.

vFkok@OR

,d daiuh viuh okf"kZd vko';drk ds fy, fdlh oLrq dh 8]000 bdkb;ksa dk Ø; djrh

gS A izR;sd bdkbZ dh ykxr 10 :- gSA vkns'k O;; 30 :- izfr vkns'k gS vkSj /kkj.k O;;



PC-048 P.T.O.

(4)

vkSlr lafpfr dk 7.5% izfro"kZ gSA

¼v½ ferO;;h vkns'k ek=k fu/kkZfjr dhft;s vkSj dqy lkexzh ykxr Kkr dhft;sA

¼c½ D;k daiuh dks o"kZ esa dsoy 4 =Sekfld cM+s vkns'kksa ij ewY; esa 2% dh NwV dk izLrko

Lohdkj djuk pkfg, \

A company buys 8,000 units of an item for its annual requirement. Each unit

costs Rs. 10. The ordering cost per order is Rs. 20 and the carrying cost is 7.5%

of the average inventory per year.

(a) Determine the economic order quantity and the total inventory cost.

(b) Should the company accept an offer of 2% discount in Price on 4 bigger

orders of quarterly requirements of the material ?

bdkbZ & II  / Unit -II

17- Je vkorZu dks dSls ekik tkrk gS \ mPp Je vkorZu izca/kdksa ds fy, xaHkhj fpark dk

fo"k; D;ksa cu tkrk gS \

How is labour turnover measured ? Why is high labour turnover a matter of

serious concern to the management ?

vFkok@OR

,d daiuh pkj dk;Zjr foHkkxksa dk izca/k dj jgh gSA v] c rFkk l mRiknu foHkkx gS vkSj

n ,d lsok foHkkx gS A vU; fooj.k bl izdkj gS &

A company is managing four operating departments. A, B and C are production

departments and D is service department. Other particulars are as under :

Rs. Rs.

fdjk;k (Rent) 5,000 'kfDr (Power) 4,500

ejEer (Repairs) 4,000 fujh{k.k (Supervision) 7,500

gzkl (Depreciation) 2,250 chek gsrq fu;ksDrk dk nkf;Ro 750
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izdk'k (Light) 600 (Employer's Liability for insurance)

vfXu chek ¼LVkWd½ 2,500

(Fire Insurance (Stock))

pkj foHkkxksa ds laca/k esa fuEu lwpuk miyC/k gS %

The following information is available in request of the four departments :

      foHkkx (Departments)

A B C D

{ks=Qy ¼oxZehVj½ 1,500 1,100 900 500

[Area (sq. metre)]

deZpkfj;ksa dh la[;k 40 30 20 10

(No. of Employees)

dqy etnwjh ¼:-½ 18,000 12,000 9,000 6,000

(Total wages Rs.)

la;a= dk ewY; ¼:-½ 8,000 6,000 4,000 2,000

(Value of plant (Rs.)

LVkWd dk ewY; ¼:-½ 3,000 1,800 1,200 -

(Value of stock (Rs))

lcls mi;qDr vk/kkj ij pquko djrs gq, ykxr dh fofHkUu enksa dk fofHkUu foHkkxksa esa

vfHkHkktu dhft;sA

Selecting the most appropriate basis, apportion various items of cost amongst

various departments.

bdkbZ & III  / Unit -III

18- ykxr i= vkSj ykxr [kkrs esa D;k Hksn gS \ buds rRlaca/kh xq.kksa ij vius fopkj izdV

dhft;sA

What are the differences between a cost sheet and a Cost Account ? Give your

views as to their respective merits.
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vFkok@OR

^^mideZ ykxr fof/k dk ,d fof'k"V vkns'k ykxr fof/k gSA** Li"V dhft;sA

"Job order costing method is a pecific order costing method" Explain.

bdkbZ & IV  / Unit -IV

19- 200 bdkb;ksa dh lkexzh ykxr 4]000 :-] izR;{k Je dh 1]500 :- o vU; O;;ksa dh 500

:- gS A mrknu izfØ;k esa lkekU; {k; 10% gS tks fd cktkj esa 15 :- izfr bdkbZ fcdrk

gS ysfdu foHkkx dh ykijokgh ds dkj.k dsoy 150 bdkb;ka gh mRikfnr dh xbZ gSA

fn[kkb, fd izfØ;k [kkrs esa {k; dSls fn[kk;k tk;sxkA lkFk esa vlkekU; {k; [kkrk Hkh

fn[kkb;sA

The cost records show the following expenses of manufacturing 200 units of

product X in a process. Materials Rs. 4,000, Labour Rs. 1500, Overheads Rs.

500.

The standard normal wastage in production is 10% and it can be sold in the

market at Rs. 15 per unit. The actual production is 150 units due to gross

carelessness of the worke Rs. show the treatment of wastage in  the process

Account and prepare Abnormal Wastage A/c.

vFkok@OR

ifjpkyu ykxr fof/k ls D;k vfHkizk; gS \ ;g fdu&fdu m|ksxksa esa viukbZ tkrh gS\

,d ;krk;kr ifjpkyu ykxr i= dkYifud vadksa lfgr rS;kj dhft;s ,oa blesa

lfEefyr enksa dks le>b;sA

What is meant by "Operating Costing" ? In which industries is it used ? Prepare a

transport operating cost sheet with imaginary figures and discuss the various

items included in it.



bdkbZ & V  / Unit -V

20- ykxr vfHkys[k D;k gS \ ykxr vfHkys[kksa dk izk:i rS;kj djrs le; fdu&fdu ckrksa

dk /;ku j[kuk pkfg;s \

What are Cost Records ? What factors should be taken into account while

designing cost Records ?

vFkok@OR

,d daiuh dk ykHk&ek=k vuqikr 40% gSA fuEufyf[kr dh iwfrZ ds fy, fdl izfr'kr

ls fcØh c<+k;h tk;s %

¼v½ fcØh ewY; esa 10% dehA

¼c½ fcØh ewY; esa 20% dehA

A Company has a P/V Ratio of 40% by what percentage must sales be increased

to offset :

(a) 10% reduction in selling price.

(b) 20% reduction in selling price.

[k.M & ^l*  Section - 'C'

nh?kZmRrjh; iz'u&

Long answer question: 2x15=30

fuEukafdr esa ls fdUgh nks iz'uksa dks gy dhft;sA

Attempt any two questions from the following:-

 bdkbZ & I  / Unit -I

21- fnlEcj ekg dk Ø; o fuxZeu bl izdkj gS %

Purchases and issues for the month of December are as under :
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             Ø; (Purchases) fuxZeu (Issues)

Dec. 1 400 Units @ Rs. 20 per unit Dec. 6 300 Units

-"- 3 350 Units @ Rs. 18 per unit Dec. 15 400 Units

-"- 20 400 units @ Rs. 20 per unit Dec. 28 500 Units

-"- 27 250 Units @ Rs. 25 per unit

lkexzh dk ekud ewY; 20 :- izfr bdkbZ la/kkfjr fd;k x;k gSA fopj.k dh x.kuk

dhft;s vkSj crkb;s fd bl ewY; fopj.k ds fy, D;k izfof"V dh tk;sxhA

The standard price of the materials is fixed Rs. 20 per unit. Find out the price

variance and state what entry will be made for this price variance ?

bdkbZ & II  / Unit -II

22- 'k'kkad fy- ,sfrgkfld ykxr O;oLFkk dk iz;ksx djrs gS vkSj iwoZ fu/kkZfjr nj ds

vk/kkj ij mifjO;;ksa dk vo'kks"k.k djrs gaS A fuEu lead 31 ekpZ 2020 dks lekIr gksus

okys o"kZ ds laca/k esa miyC/k gS %

Shashank Ltd. uses a historical cost system and absorbs overheads on the basis

of pre-determined rate. The following data are available for the year ended 31st

March 2020 :

fuekZ.kh mifjO;; (Manufacturing overheads) Rs.

okLrfod O;; jkf'k (Amount actually spent) 3,40,000

vo'kksf"kr jkf'k (Amount Absorbed) 3,00,000

fcds eky dh ykxr (Cost of Goods sold) 6,72,000

rS;kj eky dk LVkWd (Stock of finished Goods) 1,92,000

dk;Z izxfr (Work-in-Progress) 96,000

mifjO;;ksa ds de vo'kks"k.k dh nks i)fr;ksa dk iz;ksx djrs gq, izR;sd i)fr ds varxZr

daiuh ds ykHkksa ij iM+us okys izHkko dks n'kkZb;sA

Using two methods of disposal of under absorbed overheads show the implicatin

on the profits of the company under each method.
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bdkbZ & III  / Unit -III

23- fuEufyf[kr lwpukvksa ls Bsdk [kkrk rS;kj dhft;s &

lkexzh 70]000 :-] e'khujh 2]00]000 :-] etnwjh&e'khujh dk 50%] fofo/k O;; &

etnwjh ds 40%] izekf.kr dk;Z Bsdk ewY; dk 75%] Bsdk ewY; e'khujh dh jkf'k dk

300% gSA vizekf.kr dk;Z fofo/k O;;ksa dh jkf'k dk 50% gSA e'kujh ij 25% gzkl

yxkb;s A izkIr jksdM+ izekf.kr dk;S dk 3@4 gSA

Prepare contract Account from the following information : Materials Rs. 70,000,

Machinery Rs. 2,00,000, wages 50% of Machinery, Sundry expenses 40% of

wages, work certified 75% of contract price, contract price 300% of the cost of

machinery, work uncertified 50% of sundry expenses, charge 25% depreciation

on machinery, cash received is 3/4 of the work certified.

bdkbZ & IV  / Unit -IV

24- fuEu lwpuk ls ,d okgu dh izfr fdyksehVj ykxr fudkfy;s %

From the following information calculate the cost per kilometre of a vehicle :

okgu dk ewY; (Value of vehicle) Rs. 30,000

izfro"kZ ykblsUl Qhl (Licence fee per annum) Rs. 1,000

izfro"kZ chek O;; (Insurance charges p.a.) Rs. 200

izfro"kZ xSjst fdjk;k (Garage Rent p.a.) Rs. 1,200

izfro"kZ Mªkboj osru (Driver's Salary p.a.) Rs. 400

izfr yhVj isVªksy dh ykxr (Cost of Petrol per litre) 2

izfr yhVj fdyksehVj pkyu (Km run per litre) 16

izfr fdyksehVj Vk;j vkSj vuqj{k.k O;; Rs. 0.40

(Tyre and maintenance per km)

vuqekfur thou dky (Estimated life period) 3,00,00 km.

vuqekfur okf"kZd fdyksehVj (Estimated annual km) 12000 km

iwath ij C;kt dk /;ku ugha jf[k,A

Ignore Interest on capital.
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bdkbZ & V  / Unit -V

25- th-vkj-,l- fy- dk ykxr foHkkx dkj[kkuk mifjO;; dk Je ds 60% vkSj dk;kZy;

mifjO;; dks dkj[kkuk ykxr ds 20% dh nj ls vo'kksf"kr djrk gS A dkj[kkus esa dqy

O;; fuEukafdr gS %

The costing deportment of G.R.S. Ltd. absorbs factory overhead @ 60^ of labour

and office overheads @ 20% of factory cost. The total expenditure for the factory

is as under :

Rs.

lkexzh (Materials) 4,00,000

Je (Labour) 3,00,000

dkj[kkuk mifjO;; 1,96,000

dk;kZy; mifjO;; 1,70,000

mRiknu dk 10% LVkWd esa gSA foØ; 10]20]000 :- gSA foRrh; iqLrdksa esa jgfr;s dk

ewY;kadu dkj[kkuk ykxr ij fd;k x;k gS A ,d ykxr fooj.k i= rFkk lek/kku

fooj.k i= cukb;sA

10% of the output is in stock. Sales amounted to Rs. 10,20,000 stock has been

valued at works cost in financial books, Prepare a statement of cost and

Reconciliation statement.

--00--
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